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large investments








alignment of para is not proper.
presentation matters too
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y do u leave gaps




draw proper colums (by pencil) it will look presentable.
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variable cost is 25,00,000 not 25000 so all ur calculation is wrong.
read question n answer twice
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at the end write the highest and least value of combined leverage also separately bcz they have specifically asked in question


dnt make mistakes n cancellations more.it leaves bad impact.
take time for practical answers.1 little mistake can make it wrong n loose marks




draw proper table and columns
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ARR is calculated as avg net profit/avg investment .
see suggested answer for proper calculation.
net income after depreciation n taxes is already given.u have to take out avg and avg of investment .see suggested ans
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make proper colums for year CFAT and Total CFAT.




to convert into month multiply by 12




write 3 years and how many months and at the end give conclusion which machine is better.
this looks incomplete answer




see suggested ans for proper calculation


outflow is on the 1st day (year - 0) as investment.




draw proper colums to look more neat

see suggested ans for easy w: yl - calc '!ra ﬁn
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write full forms




draw proper colums to look more neat


see suggested ans for easy way of calculation






if u r writing point wise den dn leave gaps in starting a sentence.it looks confusing wether it is para or point wise..alignment shld be proper


if u want to explain by drawing ..do it properly on next page.
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drafting of 1st point is not proper. It shld be precise and not confusing






work more on formulas.
see suggested ans for easy calculation.
if u have hold on theory part ..do that atleast perfectly drafting wise.
dnt make silly mistakes in calculation.Read question twice and after completing ans ..check
again bcz 1 single mistake can cut whole marks in practical question


